

$$-48 : (-4) =$$

$$-8 \cdot 0,5 =$$

$$-15 \cdot (-2) =$$

$$-5 \cdot (-4) : (-1) =$$

$$3,6 : (-3) =$$

$$10 : (-5) : 2 =$$

$$-15 \cdot (-2) : 10 \cdot (-6) = \quad : 10 \cdot (-6) = \quad \cdot (-6) =$$

$$-7,8 : (-3,9) + 7 \cdot (-3) = \quad =$$

$$1 + (0,25 - 2,5) : 4,5 = 1 \quad : 4,5 = 1 \quad =$$

$$|-6 - 4| : (-16) = | \quad | : (-16) =$$

$$3,6 \cdot \left(-\frac{2}{9}\right) = \text{---} \cdot \left(\text{---}\right) = \text{---}$$

$$\frac{1}{5} \cdot \left(-\frac{15}{19}\right) = \text{---}$$

$$-\frac{6}{11} : \left(-\frac{3}{22}\right) = \text{---} \cdot \text{---} = \text{---} = \text{---}$$

$$3\frac{3}{5} : \left(-\frac{9}{25}\right) = \text{---} : \left(\text{---}\right) = \text{---} \cdot \left(\text{---}\right) = \text{---} =$$

$$0,9 \cdot \frac{11}{12} = \text{---} \cdot \text{---} = \text{---}$$

$$3\frac{3}{20} : (-8,4) = \text{---} : \left(\text{---}\right) = \text{---} \cdot \left(\text{---}\right) = \text{---} = \text{---}$$

Apskaičiuokite iškeldami bendrą dauginamąjį prieš skliaustus:

$$5 \cdot 14 - 5 \cdot 54 = \quad \cdot (\quad - \quad) = \quad \cdot (-\quad) =$$

$$-15 \cdot 3 + 15 \cdot 27 = \quad \cdot (\quad - \quad) = \quad \cdot (-\quad) =$$

$$3,6 \cdot (-32) - 3,6 \cdot 30 - 3,6 \cdot 38 = \quad \cdot (\quad - \quad - \quad) = \quad \cdot (-\quad) =$$